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8. Mixed.— 1. The result of the Treaties of Veudun. Munstet., Zurich I -2. (a) In
what year did the Moors and Arabs unite i (h) When did they aid t".ie Spanish
King? 3. The nature of the PiuuMATlc: Sanction of 1724'! 4. Give a brief
sketch of the Thirty Years' AVar. 5. Give date of the first and tl\e last Crusade.

No. 11.

ALGEBRA
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Junior Division.

1. Divide 5fl2x« -30a*.r* + 21arr« -2G«».r'» + 22a^x.^ by Za^z-^a^x- - 5fl/».

2. Resolve a*'' - ?«'." into the greatest pos«ible number of elementary factors.

3. Simplify a - ia - {-

a

-m)\ - i - (
- I - ( -

|
-

(
- 2a ) - 3m j-

- 4a)

5ot j-
- 6o - Im i

4. Find the value of :-

3a»J-c«(i + 2

f{a + c)-{'2c + b)

ah*m

+ *Jcf{a + b)d -
{(If -c* + a)^ (a + b + c + d +f - 5)

I
tthc -{f-d)\ hcd- (3/- a-h)\

cd
, where a = l ; b-~2 ; c-4; d-9

; f=lO : and m = 0.

6. Simplify (2a - 3J)(2a + 36) - 7 (3a - 2b)* - 11 (4a - b){b - 4a) - 2 (4a + 56)' - 5 (3a - 76)

(7a + 3J)- 9 (5a -46(46 + 5a).

x" -9x+ 14 x' -2x- 15 a;«-llx+10
^^^^ x*+x-Q z«-15a + 50 »'-i<x+7

7. Find the g. c. m. of 2 - 73;- a:« + 1 3a;8 + 5x* and 30a; - 85^» - 75a-» + 190^;* + 150«».

8. Find the value of 1 -

1--
1

1- 1

1--
1-' a

X + a

9. Prove that a simple equation can have one root,

Tn Tc a c .1 . ma * nh mc ± nd
10. If — = - prove that .— . =

b d 15a ± 176 I5c ± 17a!

3,K + 7 _ i(3,f - 1) _ •^(2x - 1) i-1^' ^ to find the value
U

11. Given ix -

of X.

12. Given Sx- y + z=li ; 2.c + 3// - 5 = 19 ; and ix - 3i/ - 2,r = m, to find the A'alue of x.

13. Find the cube root of Six^ - 24,r* + Sx'-^ + liox" -'
150;/;8 + 210.r^ - 128x«.

14. Find the h. c. M. of a - x ; a + x ; 2 (a- - ;*;-
; 4 (a- + x") ; G (a^ + .c') ; 8 {a^ - x^)

;

10(a«-,r«); 12(o''+,-"); IG (a- - a.r + ;/•-) ; 20{a^ + ax + x'-)
: 25{a* + a-x^ + x)*

;

30 (a* - u'x'^ + .t*) ; and 10 (a* i a^x + (r'.c- ± a'-x" + «r* =fc x'' j.

15. Find the coefficients of .r" and .r" in the expaii.sions of

I. {2a— xy.
II. (1 — ^.« + ia;- + 2^»— 3x'' — rc» — 2^" — 3,r)*.

16. A farmer can carry with his team to marki-t 27 bushels of wlicaL and 28 bushels of

oats, or he 'can carry 12 bushels of wheat and 48 bushels of oats. How many
bushels of each could he carry ?

2.

3.


